LCOL BASIC SKILLS — PACK 9

Topics

Algebra - Can I solve a linear equation?

Last Needed - 2023

1 » 2012 LCOL Paper 1 - Question 4 (a) O
Applied Arithmetic (Financial) - Can I convert from one currency to another?

Last Needed - 2023

2 » 2010 LCOL Paper 1 - Question 1 (b) O
Area, Perimeter and Volume - Can I calculate the volume of spheres and cylinders?
Last Needed - 2023

3 » 2007 LCOL Paper 2 - Question 1 (c) O

Trigonometry - Can I use Pythagoras Theorem and the trigonometric ratios to solve

triangles?

Last Needed - 2023

4 p 2011 LCOL Paper 2 - Question 5 (b) O
Probabilities — Can I work out the number of arrangements?

Last Needed - 2023

5P 2010 LCOL Paper 2 - Question 6 (c) O

www.mathspoints.ie for worked solutions to these questions.
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1 » 2012 LCOL Paper 1 - Question 4 (a)

1
Solve the equation 3 (7x—2)+5=2x+7.
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2 2010 LCOL Paper 1 - Question 1 (b)

An importer buys an item for £221 sterling when the rate of exchange is
€1 = £0-85 sterling.

He sells it at a profit of 14% of the cost price.

Calculate, in euro, the price for which he sells the item.
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3 > 2007 LCOL Paper 2 - Question 1 (c)

A team trophy for the winners of a football match is in the shape of a sphere supported

on a cylindrical base, as shown. The diameter of the sphere and of the cylinder is 21 cm.

0)) Find the volume of the sphere, in terms of 7t .

The volume of the trophy is 6174w cm?3.

(ii)  Find the height of the cylinder.

2lem
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4 p 2011 LCOL Paper 2 - Question 5 (b)

C
In the triangle ABC, |BC| = 6 cm, |£2ABC| = 90°, |£CAB| =6
and sin 0 = 2
6
0 _
A B

()  Find |AC|.

(i) Find |AB|.
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(iii)  Verify that cos?6 + sin?6 = 1.
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5 p 2010 LCOL Paper 2 - Question 6 (c)

A code consists of a four-digit number which is formed from the digits 3 to 9 inclusive.
No digit can occur more than once in the code.

(i)  Write down the smallest possible four-digit code.

(ii) How many different codes are possible?

(iii) How many of the four-digit codes are greater than 60007

(iv)  How many of the four-digit codes are divisible by 2?
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